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LEVEL 1 — THE CALCULATOR

Note:  Only turn back to page number if you have difficulty

Q1. Work out the following in your head, then check your answers using
‘ a calculator: -

(a) 3000 + 600 + 40 + 8 (b) 50 000 + 3500 + 85
(€) 40-15-10-3 @ (17-9+3+1
(e) 0+ +5) T 3%6+4%35

(g) 50-20+15-6 (h) 36 +4-3x2

Find: . :

@ 5-(+3) . by 8—(=4

© 6x7 - : ’ (d) —48 +(-12)

() (19-3)+(-4) C M -2x3%x-1 o
(@ 11-(+2)-(=6) ) -15+6)-@ -

4 2

) 4 9 2 1 7 1
Find: a) —+— b 1—+—
(a) P (b) 51

42 1= (d) 3=-2>
© 42-1, @ 35-2

.5 3 1.7 1 3 3 .1
e) 1—X-—— 2--X3— 4—+= (h) I=+1-
()810®48(g)27()56
Use the FIX key to write these correct to 3 decimal places:
() 5.321697 35 (b) 43986 +2.13125 (¢) 5.317-3.846 93
{dy 1131 () 4+7%6 (H 6.383x4.88

. 1
Evaluate the following to 2 d.p., using the — key:
. L x

(8) —— ) — e —x2

2.96+3.04 5.68=3.15 . 6.83

1 1 1
H ——— €) —e — x5
W 35772 © 927 ® 13673

Using the +/  and x2 keys find the following correct to 2 d.p.:
@7 38 © 73 @ (6.3

© (287 @ 1699 (o) (-8 () V65
Using the 3/ and x¥ keys find thes¢ correct-to 2 d.p.:

@ Y6 ® 6’ © 32 @ (-1.5)"

@315 ©¥5 ® @8 o 81°
Using the M in and MR keys, evaluate these to 1 d.p.:

225 1.1164+0.3 9.8%2
(2) SFED T D) (c) ————
9.36x4.12 5.018x1.3 6.19--4.05

6.2+4.6° 5.4%8.1 2.75

8.7%3.02 (©) D Af3x2.9%10
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= LEVEL 2 — ?HE CALCULATOR

Q1. Evaluate the following correct to 3 d.p.:

. @ (~159)++43x891 (b) (212 -538+8541 (c) 6% /14 +(-17.2)
- I @ 15023 .17 @ sx[6.2+(437] (6 13621220135
= o -
- 3/56 — (~63)+ (—5) 21-[0.18+ (0.3)"] 9% +5 —(—4)°
= Q2. Hd=9.6andb=-—4.8 and ¢ = 2.4, evaluate the following correct to 2 d.p.:
= 2,32 2
‘. (a) a—b-+c (b) Jabc () a®+b°—c”. (@) Za+b+c
L @ &2 ‘© 242 @) Yaibre () S+bi+ct
e b ¢ -
2| Q3. Find answers to these correct to 2 d.p.: A _
@ % of$3.75 (b) 0.153 of 56 m . (c) 78.3% of 3.62 kg
7 ‘
— (d) 0.32 of 15.8 km (€) 59% of $689.05 3] 5 of 1.25t
| (g) 41.25% of 63 cm (h) % of 598.34 L, (@) 0.187 of $3918.81
t Q4. Find the amount (correct to 2 d.p.) ift
- (a) 19.3% is $456 ®) % is 460,5 mL () 0.38is5.2L -
- 4 - - ' 7
4 (d) T is 96.3 kg (€) 63% is 763 m (f) P is $58.,65
| (©0.325is3.8km (h) 0.48 is $88.40 (i) 27.1% is 780.8 cm
= Q5. "Evaluate the following correct to 3 d.p.: |
| (a) 11 x3.142 x 4° (0) (3.68 —3%) X 4g © (0.2 —[E) +(0.3° &
. , .
: 5 3 1 6 - 3
: L@ [2=4067->] - () 9= —2=+421 — X0.8+69%x=
= ()( 6)., © 4 6 (f-)15 8
. . . . 1
Q6. (a) One apple costs 23 ¢. What is the cost'of 25 dozen apples?
- (b) How many $7.60 books can be bought for $1162.80?
= (c) Change 2—; to a decimal correct to 3dp.
(d) Six dozen flowers costs $104.40. How much does 1 ﬂower cost‘?
-
~6><3+ 4 9% (8)% +(— —43+(—-5)+{—12
- (—4)2 49+(—7)—(—11) 7 56+(—8)=(=3) |
@ 92—82+42 ()15><23 (-2)? " 10% x 4* .
43 (~2) +(~20)- 2‘* X3+6 28 x 5% o




VI, 3 — THE CALCULATOR

Use your calculator to list the multiples of:

(a) 12 between 200 and 299 (b) 15 between 400 and 500
(¢) 6 between 160 and 200 (d) 9 between 600 and 700

Find two numbers that have:

(a) asumof 71 and a product of 1188.

(b) a difference of 24 and a product of 1792.

(c) asumof 136 and a product of 4368.

(d) a sum of 899 and a difference. of 153.

If one Australian dollar (A$1.00) is equivalent to 74.2 American cents
(US$0.742) or 46.1 English pence (£0.461), find the value of the followmg
amounts in Australian dollar terms:

(a) US$5.60 (b) £13.90 ' (c) US$453

(@) £68 () US$23490 () £693

, 5 1
Find: (a) 6%% of $6921.50 (b) 5~2—%-Of $3501.20

© zi% of $4999.60 A 4%%,0f $7936.48

: ) B | .
(e) 7§% of $5341.55 ) 335% of $8934.52

(a) Increase $1563 by 11% (b) Decrease $798.50 by 23%

' . ' ‘ 1
(¢) Decrease 15.9 L by 7.5% .(d) Increase 390 km by 35%

_ 3
(e) Increase 15.36 kg by 52% - (f) Decrease $1698.23 by 92%

Kim owns a boutique. She purchased 3 dozen shirts for $14.95 each 2 dozen,
dresses for $32.40 each and 5 dozen belts for $6.85 each from the wholesaler. If
Kim marks her cost prices up by 125%, how much profit will she make if she
sells all of the shirts, dresses and belts?

Complete the pattern:

(2) 2.30,2.22,2.14, 1,1 : (b) 5.83,--2.915, 14575, 1,1 ]
(©) 3.9,22.62, 131196, 1, ] @ 76,60.8,48.64, 1,

(&) 0.297,0.594,1.188, 1, ] ) 0.16, 1.5475,2.935,[ ][]

Q8. Find: (@) 3+32+33+34 435436437 +384+394310
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ShpEs

Level 1 — The Caleulator

Q1.

2.
Q3.

(a) 3648
© 38

(@) 2 (b) 12

39
(e) 20

@ 5322
@ 0.17
(@ 2.65

(e) 784

{a) 1.82
{e) —5.00

(@ 0.1

(by 6.530
(b) 040

®) 02

(b) 53 585

(g) 39

© -42 ()4
31

e
(b) %0

o 23
®8
{c) 1470

{c) 0.29

(b) 1.90
H 4.12

(b) 7776.00
(f) 2.92 ’

{c) 9.2

Level 2 — The Calculator

Q2.

Q3.

Q4,
Q5.

Q6.
Q7,

(a) -0.467
(f) 0.287

(a) 16.80
() 3.10

(a) $3.13

H 097t

{a) $2362.69
{f) $66.65

(a) 4289.877

£ 2.908
(a) $6.90
(a) —3.14

Ab) ~18

(b) 8540.030

(b) —4.80
®. ~_4.00
(b) 8.57 mL
{g) 2599 cm

(b) 592.07 mL
® 11.69%g

(b) 1676

() 153 books
©) 10.63

(o) 12

B3
) -4

7

(C) 3'{5‘
1
(& 102

® 6

@ 0355
(@ 0.09

() 4.16
(2) 64.00

(c) 1.06
(g) 1349.29

(@ 0.4

{c) 9183.487

(c) 10944
(g) 1.93

{c) 283 kg

"~ (h) 435.16L

(c) 13.63 L
(h) $184.17

(c) ~0.314

(© 0913
@ -031 (o) 4

(e) 3.429
(€ 0.03

() 05

@ 2

() 15

13
dy 1=
().24'

13
hy 1—
@ 15

(d) 39.69
(h) 8.06

<{d) 5.06

(h) 282 429.54
0 03

" (d) 0.0031

(d) — 1.60
(h) 940.95

(d) 5.06%kin
() $732.82

(d) 264.83 kg
(i) 2881.18 cm

(d) 4.354

(d) $145
O 2

(f) 31.149
() 11.03

h)y —25

(e) 6497

(e) $406.54
(e} 1211.11m

(e) 3434

Level 3 — The Calculator

QL.

Q2.
Q3.
Q4.
Q5.
Q6.
Q7.

Q3.

(a) 204, 216,228, 240, 252, 264, 276, 288

(c) 162,168, 174, 180, 186, 192, 198
(a) 27 and 44 (b) 32 and 56

@ A$7.55  (b) A$30.1S
(@) $467.20  (b) $192.57
(@) $1734.93 (b) $614.85

(b) 403, 420, 435, 450, 465, 480, 495

(d) 603, 612, 621, 630, 639, 648, 657, 666, 675, 684, 693

(c) 52 and 84

) $34921 (&) $416.64
(d) 403.65km (&) 23.3472kg

(d) 373 and 526

() AS610.51 (d) AS147.51 (c) A$31657.68 () A$150325
() $11249
(© 1471L

® $2978.17
(5 $1532.65

$2158.50

{a) 2.06;1.98
(d) 38.912:31.1296
1023

@) 88572 (by —=
1024

(b) —0.728 75; 0.364 375
(e} 2.376;,4.752

(c) 760.9368; 4413.4334
() 4.3225; 5.71
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